
 

 
Atomic number of silicon is equal to 

(A) 6       
(B) 14       
(C) 18       
(D) 44       
Answer- (B) 
 

Is the current responsible for the current flowing in a conductor wire? 

(A) difference in temperature       
(B) Difference in voltage       
(C) difference in resistance       
(D) All this       
Answer- (B) 
 

The smallest particle that has all the properties of that element ………. Is 
called 

(A) Atom       
(B) Proton       
(C) element       
(D) Molecules       
Answer- (D) 
 
Who discovered the magnetic effect of electric current? 

(A) Faraday       
(B) Arstad       
(C) Joule       
(D) Kulom       
Answer- (B) 
 

What is the unit of electric energy? 

(A) Watts       
(B) Kilowatt hour       
(C) KW       
(D) Joule       
Answer- (B) 
Which of the following is the application of direct current? 

(A) electroplating       
(B) arc welding       



 

(C) Battery charging       
(D) All this       
Answer- (D) 
Which of the following is the basic particle of nature? 

(A) neutron       
(B) Proton       
(C) electron       
(D) All this       
Answer- (D) 
 

Piezoelectric effect is usually seen? 

(A) drivers and super drivers       
(B) In drivers and semiconductors       
(C) In electrical insulators       
(D) Insulators and drivers       
Answer- (B) 
 

Resistance of most metals and alloys increases with temperature. From the 
perspective of this statement, the resistance of semiconductors and 
decomposable solutions ………. 
(A) temperature increases       
(B) temperature decreases       
(C) remains fixed       
(D) temperature rise has no effect       
Answer- (B) 
 

The damage is reduced when the size of the driver 

(A) is oval       
(B) is independent of size       
(C) flattened       
(D) is circular       
Answer- (D) 
When an electric current flows towards the Earth, the potential of the object 
is ……. And when electric current flows from the earth towards the object, 
the potential of that object ………………. it happens 

(A) negative, positive       
(B) positive, positive       
(C) negative       
(D) positive, negative       
Answer- (D) 



 

 

Which of the following is not divisible? 

(A) molecule       
(B) Mishra Yogic       
(C) Atom       
(D) All these       
Answer- (D) 
 

The central dense part of an atom is called? 

(A) electron       
(B) Yogic       
(C) connective       
(D) nucleus       
Answer- (D) 
 

 Who prevents the change of current in the circuit? 

(A) conductor       
(B) capacitor       
(C) Resistor       
(D) Inductor       
Answer- (C) 
 

 


